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Labour Economics
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Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.

Alc ;YT Y UF W18 (60) 3Pl FT & W A (03) WUSH
‘@, @ T T H fowia 71 Renf @ g4
guel # QU 7Y fawqd Ml & o faR & el @
SR < 2

Section-A / GVs—d
(Long Answer Type Questions) / (€78 IR T2

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.

e @ue ‘@ H AR (04) <H I weE Y W E
TG Y @ v U (15) @ fwiRa g
RrenRial oF 39 | ®ad <1 (02) T @ SR <
gl
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1. What do you mean by Labour Market ? Discuss its
characteristics in the reference to Indian Labour
Market.

S gIOR o 3T 97 IH3d & 2 IR 99 9ok &
T # 3o faumdmRn &1 avi| SR |

2. Discuss the modern theory of Wages. What is the role
of collective bargaining in wage determination ?

o @ e Rrer @ @ S| wegd
feiRer # AMfes diedron @ @ e @ ?

3. Discuss the importance and value of conciliation and
arbitration in the settlement of Industrial Disputes.

Nenfire gosf & feer @& o g9siar 7 o &
72 Bl fademT B |

4. Discuss the government’s efforts for elimination of
child labour in India. Give suggestions for its
elimination.

RA H 91 3 & SHed T AR g fhd T
YA BT GO DIGT| A I &G G
SISTY |

Section-B / Yis—Yg

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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dlc: Tue ‘@ H e (08) Y SN U ¥ W B
TAG Y B fog U@ (05) e FEiRd F
el a1 g8 ¥ dadt IR (04) U b IR <A
gl
1. Explain manpower planning.

ST PRSI @l qeeed |

2. Discuss the role of employment exchange in the
elimination of unemployment.

RO FaR # ISR SRl & gFdr
9T BT |
3. Explain the needs of wage policy in India.

WRA ¥ Aoigy A ® AT Bl gy |

4. \What are the reasons behind the critical conditions of
agricultural labourer in India ? Explain.

TR A B et @ e Rufy & 09 N9
BRI B ? L |
5. Write a short note on trade union movement in India.

IR | 919 Y Ml R U e el forRay |

6. Describe the determinant factors of Labour Supply.

59 gfd & MR Il &) [T By |

7. Characteristics of a labour market in a Developing
Country.

fapraele <9 & M IR @I fa9an |
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8. Discuss the housing problem of industrial workers in
India.

IR # Menfre el o smardiy Taer & fada
I |

Section-C / Yvs—TT

(Objective Type Questions) / (@& J)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.

dlc ;. @ue T H 9 (10) TRMTS WA Q@ W 2| YRS
Y @ forv Ue (01) oiF FuiRd &) 50 @vs @
T oo arfear € |

Indicate correct answer-option in the following :
frfeiad gl # W2 SR-fIdey gafa i

1. Labour in economics means :

(@ All human efforts of body which is undertaken in
the expectation of reward.

(b) All human efforts of mind which is undertaken in
expectation of reward.

(c) Both (a) and (b)
(d) None of the above

refemes | 5/ o1 31 ©

(@) W™ R 50 T 9 TRING FR A1 [REhR
it ) e ¥ Y o €
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@) w9 R R T SR ARG PRl O RER
It 1 amem ¥ 5y o 2
() (@) o (4) <
(3) SUYH # | BIS Tl

2. The proportion of labour in GNP becomes low, due to
the following reasons :

(@) Wage lag behind prices
(b) Prices lag behind wages
(c) Profit lag behind prices
(d) Prices lag behind profit
ffoRed SR | Foha T AR (S, T W) o
S 1 fR 3 B |
(&) #oGRAT F B! | UG I§ oI
(@) @l BT AIRAl | TS XE o
(@) @ &1 prFal | 9D [ S
(8) ®mal &1 a™ | U I S
3. Under the condition of perfect competition :
@ MW>AW
(b) MW =AW
(c) MW < AW
(d) None of these
oot Ry o e # -
@) Mw>AW
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@ Mw=AwW
@) Mw<AW
(@) T ¥ P T
4. Headquartersof I. L. O.isat:
(@ Washington
(b) Hauge
(c) Manila
(d) Geneva
3TS. T, 3. $T T @ -
(1) af¥fres ¥
@ TTH
(@) wirem o
(§) omard

5. Which sector has the maximum quantum of disguised
unemployment in India ?

(@ Transport (b) Agriculture

(c) Industry (d) Trade

R H (B &3 d gy RSN B gRATT Fed
3P © ?

(@) wRaEd @ @

(\) s (€) =R
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6. The maximum labour oriented industry in India is :
(@ Cement Industry
(b) Iron and Steel Industry
(c) Jute Industry
(d) Cotton Industry
RA | 999 e 3 T SE §
(@) e San
(@) e 7d gxam e
() S s
() i-ae e

7. What is the minimum permissible age for employment
in any factory or mine ?

(@ 12 years (b) 14 years
(c) 16 years (d) 18 years
ffl ! PREM I G H IR T FRA DI
AT 3 T 7§ ?
@) 12 99 @ 14T
(®) 16 ad @ 18 ad
8. Payment of Bonus Act was passed in :
(a) 1965 (b) 1970
(c) 1975 (d) 1980
I I ST UTRe g
(31) 1965 (@ 1970
(|) 1975 (@) 1980
A-64 P.T.O.

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

http://www.uouonline.com
[8] MAEC-07

9. The craftsman training scheme was introduced in :

(a) 1950 (b) 1952
(c) 1954 (d) 1956
TXABRT YFNETOT ATSTT YIR™T g‘s‘ :

(31) 1950 # @ 1952 H
() 1954 (8) 1956 #

10. Social Security Act, 2008 was passed for :
(@) Organized labour
(b) Unorganized labour
(c) Both (a) and (b)
(d) None of these
IS GReT AT, 2008 TIRA gaT
(&) fed sm @ for
(@) omfed s & for
(@) = eFl & forl
@) T foell & forg

MAEC-07 20

A-64

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

